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Genetically Mog;
ify :
ied (GM) Plants haye been uscful in many ways. Genetic
ave ’

modification hag

A decreased effje;
fﬁcxency of Minerg] usage bY plants

B Genetically Modif; -harvest losses.

¢d (Gm plants helped 1© reduce post

C  Genetically Modifieg (GM) Juced reliance on chemical pesticides
plants r¢
(pest- resistant crops)
P Genetically Modifieq (GM) plants reade Crops more tolerant to abiotic
plan

stresses (cold, drought, sa)t heat)

2. In which year, the Air (Prevention and Control of Pollution) Act was amended to

include noisc as an air pollutant?

A 1981 B 1978

C 1987 D 1997

3. Which of the following groups has recorded the maxim um no. of specics?

A Algac A Fungi
C Mammalia D Aves
4. Succession of plants in wet arcas is called
A Hydrarch succession B Xerarch succession
C  Hydroponic D Hydrophilic succession
B sEr ¢ W
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5. Who formulated the 1aw of "Competitive Exclusion Principle” to cxplain the

possibility of co-cxistence of tWO closcly related specics?

A CGeorgyGause B Alfred ). Lotka
C Vi Volterma D Richard( yoodwin
6. Which of the following gene codes a toxin protem that controls com borer?
A cryllAb B enylAb
C crylAc D crvlilAbe

(3, Whois called as the Darwin of the 20* century?
A Emst Mayt B Greg Mendcl

C H. G. Khorans D G. N . Ramachandran

(8  Whatis the biological name of Men?

A  Pnmate B Homo sapiens
C Adam D Hominidae
9. Which of the following famous botanical garden is located at Lucknow.

A Royal Botanic Gardens
_E National Botanical Research Institute
C Indian Botanical Garden

D  Botanical Gardens of the Indian Republic

BO7SET-C [4]
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10. [dentify the correct order of taxonomica] sequences’
A Species, Genus, Order, Phylum, Kingdom
B Genus. Order. Species, Phyjym,  ingdom
C SpcciCS. Ordcr. Gcnus, Kil‘lgdom phylum
D  Specics, Order, Gens, Phylum, Kingdom

Qj The HIV genome consists of L
- . . are enclosed with n
}'\ 1‘\\'0 ldcnllcal Sing‘c’“mﬂdcd DNA mulcc‘.'lcb lhat arc

the core of the virus panicle,

. enclosed with in
N4 Two identical single-stranded RNA molccules that arc en

the core of the virus panige,
C  Onesingle-stranded RN A molecule that is enclosed within the core of the
virus particle,
D One single-stranded RNA molecule that is enclosed within the core of the
virus particle.
12, Which organ ism was used for proving the hypothesis of semi-conscrvative

mode of replication of DNA by Matthew Meselson and Franklin Stahl in 19577

i

N E. coli B Orvzasativa
C Mirabhillisjalapa D Lathyrusodaratus

13. How many base pairs are there i n E. col i whose DNA is 1.36 mm in length?

A 4000 bp B 1,36,000 bp
C  4,00,000 bp D 40,000 bp
B0y SET-C “ |
Entrance Examination - J
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F,. sk Mendel's experimental material was
A Mirabillisjalapa B Onzasativa

C Lathyrusodaratus 153 Pisumsativum

15.e Mendel presented his work 1n
A Natural History Socicty in America
8 Natural History Society in Germany
C Natural History Socicty in Brunn

D Natural History Society in Russia

16. The innate tendency of offspring to resemble their parents is called
A Rescmblance B Variation

& Heredity D [nheritance

17.  The reproductive cyclc or the menstrual cycle occurs in the female primates of

A Monkeys B Apes

¢ Human beings | D All of the above

18.  Which of the following is a part of the hind brain

A Cerebellum and medulla B  Cerebrum
C  Corpora quadrigemina D Cercbral aqueduct
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{l‘?’\'] which one of the following i

: in brain?
N0t 8 layer of cranial meninges 1in

h
A Dura mater

R Pia mater

Mcmingitis . Arachnoid

0. The no. of bones in humag Cranium jg

'/\' 14 B 8

c 26 D 33

21.  Proteins involved in muscle CONntraction are
A Opsinand rhodopsin
B Hacmoglobin and myoglobin

C  Carbonic anhydrasc and glucose oxidase

D Actin and myosin

22.  How many chromosomes are there in a fruit fly?

A 8 B 46
cC 23 D 42
23, Which one of the following is a steroid hormone?
X Insulin B Epinephrine
C  Cortisol D Glucagon
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in tyPES of cells present in the islet of Langerhans®
24. What arc the twoma
! B cclls
\;«" a-cells and ﬂ-cclls \’B/ )
ells
C White blood cells D Red blood ¢

25. Meclatonin is sccreted by

A Parathyroid gland B Adrenal gland

C  Thyroid gland J  Pineal gland

26. Auxin was first isolated from

A Sunflower B Bovine serum

c Lotus root D Human urine

27.  Which one of the following statements is incorrect?
A7 Carotenoids is blue in color
B Xanthophyll is yellow in color
C Chlorophyll b is yellow green in color
D Chlorophyll a is bright or bluc green in color

28.  During photosynthesis, in which part of cell, is sugar synthesised?

A Stroma B Lysosome

C Ribosome D , Mitochondria
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29 Older dying leaves ©Xpoy e
. "

i ¥ I ..‘.'
rﬁ. Potassium B Nitrogen
e Calcium D Sulphur

30.  During the cell division jn pical meristem. the nuclear membrane appears in
A Cytokincsis a Anaphase
£ Telophase D Metaphase

31 Which of the following is ROt the key feature of metaphase during cell division.
~A - Chromosomes are seen 0 be composed of two chromatids attached

together athe centromere.

3 Chromosomes get aligned along mctaphase platc through spindle fibres.
C Chromosomes are moved 10 spindic equator.
D Spindle fibres attach to kinetochores of chromosomes.
32, In 2 polysaccharide, a bond called ... ... ... links the individua'
monosaccharaides.
A lonic bond B Phosphodiester bond
L Glycosidic bond D

Peptide bond
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ccll“’“
33.  Major componcit of plant
33. Majorco B RNA

A DNA D Cellulosc

-

C Proteins

1 palances the osmatic pressure of the cytoplasm,
4. If the external solution &

: B lHypertonic
A Exothcrmic

C  Hypotonic _D  lsotonic
y

L]

35.  Which protein is present in membranc and help in transport of molecules and

small protcins to pass through the membranc?
A" Tubulin B Collagen
C  Transferrin & Porin

36.  The best bio material for the study of mitosis in laboratory is
A Ovary B Leafl tip
C  Anther D  Roottip

37.  Inasomatic cell cycle, DNA synthesis take place in
A Prophase of mitosis B~ S phase
C G 2 prophasc D G| phase
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38. Who discovered triple helical structure of collagen?

A~ James Watson B Srinivasa Ramanujan
C  G.N. Ramachandran] D  H.G.Khorana
U rcO"’”c animal excreles
o4 Ure B Uricacid
c Ammona D Nitrogen

Al INg is j Hate cal?
which one of the Tollowing is jneorrecy for an icobilateral Ie

0.
.A' Reticulate Venation
B Paralle! venation
C The mesophvll is not differentiated nto p;.lia:ulc and spongy pé
p  The stomata are present on both (he surfaces ol the epiderm 1s
i A staminodc is
A A fertilc stamen B Asterile carpel
C A stamina with ovules D A sterile stamen

2. The most notable discase caused by prions i s

A~ Bovine spongiform encephalopathy (BSH:)
B Parkinson's discase

C  Alzhcimer's discase

D  Meningitis
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L&)
Y. ldent
entify the |
y the incorrect habitat ot archacbacteria
A Saliva "’
Marshy areas

#
& ot springs
prings D Extreme saly
b T ) 11\'11:\

44.  Which of the (ollowing is correct as per the Five Kingdom Classification

proposed by R. H. whittaker in 1969:
A Moncra, Protists, Fungi, Plantac and Animalia.
B Prokaryotica, Protist® Fungi, Plan tac and Animalia.
C  Prokaryotica, Fungi, Plantac, Animalia and Eukaryotica
D  Algac, Bryophytes. preridophytcs, Gymnosperms and Angiosperms

45. Which of the following i$ the smallest living cell that can survive without

oxygen.
A E.coli B  Mycoplasma
Cc HIV D  Corona virus

ég} Which onc of the following i s not an example of class Aves?

A Pavo B Cameclus

C Columba D Corvus

ced Plants was writlen by
B Marx Albert

47. The Anatomy of S
u( Kathenine Esau

C  LewinGene D  Albert Lehringer
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48. Chlorophyll d is present in

Rhodophyceae B Phacophyceac
A :

. Chlorophyceac
C  Fucoxanthin D
" Carrageen is a )
9. o
A Fungi
C Brown u|gac B Virus

JBb”  Redalgac

\ tohr’s orbitals are _
50, | Calleq Station,

- Y becayse
iy ~ . usc
‘.36 Elcctrons i Bohr's orh

B The protons fCMmains iy, Nugle:
©and arc

stationary.

o » -I - :
The clectrons i Bohyg Orbitalg 5 have fixed cnergy.

C
D Bohr's orbitals hay, 2 fixed ryq:
hi

51, BF. acts as an acid accurding 03 toncept of

A Bronsted B Arrhenius

C  Lewis D  Michaelis and Ment

52.  The 1somers which can be convened into another form by rotation of

molecule around single bond are called
A Geometrical isomers B Enantiomers

-

C Diastcorcomers D Conformers
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53. Inan aqueous solution, hydrogen will not reduce

A el B Cu®
C A’ D Zn*
o example of
ho
. of alc0 ‘ _
54. Dehydration o 2§ Substitution reaction
jition r¢ e
A Adl o D Elimination reaction
reac
C Redn.‘i
ast polarity in b 0
:oh of the following has 1605 T yinbond?
55. whic B H-O
A H-S D
H-F
C H-ClI
bserved in
56, Tyndallis cftect that €30 0
T . B Unsaturated solute
A prcmpllﬂlc
¢ Good colvent b Colloidal solution

57. Il gasis expended at constant temperature

A The number of molecules of gas increasces

The kinetic energy of the molecules decreases

B

C  The kinetic energy of the molecules remains the same

D the pressure increases
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| \ \ - —enANLIomers 1s
S%,  The process of scparation of a racemic mixture in to d and 1-enm

called
A Dchydrohalogenation B Revolution
C  Dehydration J) Resolution
] How many chaip :
5.9 -nlsg Cry
A 4 “ou)q
®lained from the CeHyy ?
C 6
B 5§
B 7

o The molar cunccnlraliun
. ﬁrz

A 1.0 molesijy, M of NaOH present in § litre of solution is

C 0.2 moles/ljyy, B 0.5 moles/litre

D 0.1 moles/litre

One of the r()"u“.-i
-A/ Cellulose Mot a polymer
C DNA B Protecin

D Amino acid

62.  Electrons in the ouger orbit
are calleq

A Orbutals

B Valences
C Shells

D Nuclei
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63. Tree of 21™ Century s
]

A Rubber

§~ Neem

C Mango

@ Acacia
6. Most stable ccosystem is
A Ocean B Mountain
C Desernt D Forest
4 l.mimﬂ:l y
ion is
65. ThepHof? solut! falt
[ jon o
A concentrall the medium
nstant ©

1 tﬂc cO . .
dielec ation of acids and bascs
t

B
e rclative concen
D

environmental effect

\ :
<6, Onc nanometre is cqual 1€ 5 10%m
oA 10°mm 9
. 39( 10”7 mm
cC 10'm

to sun, it Moves
- comes nearct i
| 61- When a planct B Constant at every point

er
C Slower "D/ et

germanium is doped with

. semiconductor
68. Inp-typec B Gallium

Juminium
A Al D All of the above
¢  Boron - =
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70.

71.

73.

s a bad conductor of clectricity”?

69. Whichone of the following i
B Plastic

A Copper
c  Silver D Gold

Among the followj
owing whj .
ch :
bonds IS used for the reductive cleavage of disulphide

A Urca
B SDS

C Performi :
Ic acid
D p-Mcrcnptoclhnnol

Accordin
g to ”uman Ge
n . '
A 3 ome Project, genetic similarity among all humans 1S
/0

B 9.9 %

C 995% 927
D 95 %

The penod of .
A2 geostationary artificial satellite i
24 Hours

C 7 days

B 30 days
D 365 Days

A No chan
. gc
B Either positive or ncgative

C  Nepative D
Positive
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74, Water falls from a height of S00 m. The rise in temperature at bottom if
whole of the energy remains in water, will be

(Specitic heat of water = 4.2 kl/Kg)

A 1.02°C B 0.96°C
&£ 1.16°C D 023°C
————
. fpowcf-
5. TheSTUPt? B Ampere
A Joule B wan
c om

caglar point ix 9 ¢ )
mlcu O mM/seet ¢ _
ot ot 8P Suppose the cartly suddenly

{ )
The value © presenl size

, Wi ol
. e alfis thout losing any mass. The value of '
shrnk uniform ing that the distance of the no L
" s € point from the centre of the
at the s jll becom
_4h docs ot shiP vl
; g B 1960
9.8 /s
y\ ) : 92 9.8 m/s
s
c 49

et s 24 €M above the surface of water (m=4/3) in lake. A fish insjde
77. A point OV

will observe the 1ma

urface of watcr

ge to be ata point.
the water

A 18 cm below the

32 cm above the surfacc of watcer

B
C  6cmbelow the surface of water
D

32 cm below the surface of watcer
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‘8. Sticky ends are overhanging picces of single stranded

’ \/B RN:\

A DNA

C- Proteins ‘,'{1}}" Messenger RNA

79.  Which of the follow:
OWing
& Viral Vectors has the largest capacity for foreign DNA

aMmal cells?  https://www.jamiastudy.com

A Atlcmwirus.
B Rctrovirus

( Baculovipys Vi
D Corona Virus

80.  The e

B Louis Pastecur .

C Gree
regor Mendel| . D Carroll L.. Wilson

8. Which onc¢ of the '
he following statement about Angiotensin 11 is incorrect?

A Angiolensin I ;
grolensin i is a powerful vasodilator.
B Angiotensi '
n n i T
p I activates (he adrenal cortex o release Aldostierone.
. Angiotensin 1 ;
) I increases the glomerular blood pressurc and thereby GFR

Angiotensin ]| IS powerfu] vasoconstrictor

R2. Ammonotelism js

A The process of cxereling uric acid
B The process of exereting urea and uric acid
C The process of excreting urea

A The process of excreting ammonia
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83 ' 2 s
Who discovered blood groups”?
A Emst H;
‘mst Haecke
eckel B CamiXo Golgj

(- ., .
P Karl Landsteiner D Thomas Cool
as Cooley

ount in 1 mm” of blood?

C
gtel®
g the nﬂmwl p:)oﬂ B 1-8
what! 0,
. W 50’000-3,5 D  10,000-80,000
ﬁ ]
o150 0

mrotcin in the whole of the biosphere?

pun
Which is the most a

85.
n
A Collsg® oS ﬂgCﬂTbOK}' ]ﬂ!‘-L‘-ONygcnnsc(RuBisCO)
yloseDIsP
¥ K
C Hfmﬂg](}bm
D Sc,-umalbumiﬂ
: COTTCC'-‘.} |
g6 Which of th¢ following is 10"
| A Robert Brown t:iiSi‘ﬂ"'emd the cell.
: ‘o5 out its life activitics within a si
5 A unicellular organism CAITIES it its life activitics within a si
formed from pre-existing cel

ained that cells are

p  Schleiden and Schwanfl formulated the cell theory.

C Virchow ¢Xp

87.  Which type of chromosome has centromerc slightly away from the middle of
resulting into onc shorter arm and one longer arm?

A Telocentric chromosome B Acrocentric chromosome
Metacentric chromosome

C Sub-metacentric chromosome D
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hi s : . ' me.
88.  Which of the following statement is correct for riboso
A Ribosome have only cell membranc, not cell wall
Ribosomes are found in nucleus of a cell.

Ribosome is found only i n animal cell.

B
C
b’

i : in a cell.
Ribosome is a non-membrane bound organclics found in 3

g9. Who discovered Viroids?

A Ananda Mohan Chakraborty g

C Kari Mulis

Charles Darwin

D T.O.Diencr

S

90.  Chipko movement started 1o conserve
A Grasslands g~  Forests
C Deserts D Soil

91.  Which of the following will casily dissolve in @ polar solvent?
uﬂ,/ Sodium chloride B Argon
C Mcthane D Benzene
92.  The dissociation constant of H,0 at 25°C is
A 10M B 10"M
£ 110%™ D 10™M
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93. Absorption maxi ma of DN A is around

A 260 nm B 280 nm
C 409 nm D 180 nmn
%, Which of the following alcohols would be most soluble i n water?
A Octanol B Butanol
3% Ethanol D Methanol

(ies inversely as

wiré vé
:<4ance of 8 B Tcmpcrature
The resis o |
95. \ Leng!h - B Arcaof Cross section
. A of
Voltage 58 kind B Fuel energy
6. .
’ Solar encry Potential encrgy
C Kinc
iectron in the inncrmost orbit of an atom is
: ne
r IOC“)' Ora
97. The vC

B Average of all
A0 D

_X.{ Lowest

fa“paniclc is doubled, then its de-Broglie wave length wij
ntum O

Highest

9. If the mome

become
4 Times
A Unchanged B
c 2 Times D YA Times
2Tim
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99. When ultraviolet radiation is incident on a surface, no photoelectrons are

emitted. If a sccond beam causes photoclectron s to be ejected, it may consist of

" A Radio waves B/ Visible light rays

C  X-ays D  Infra-red waves

19016 gram of oxygen a1 37oC s mixed with 14 gram of nitrogen at 27°C th

temperature of the mixture jg
A Nooc

B 27.0 °C
C  370°C

D 305°C
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